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Jan 19-3:51 PM

Group work:

a)sin”’ (%)

b) cse ' (2)

Day 5 Unit 8

I Find the exact values in radians for each:

¢)cot ' (=D)

Feb 4-11:18 PM
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1. Evaluate. Exact values leave answers in terms of it or simplest radical form:
o 2T -1
a)cos (sm(T)) b)cos(sin™".2)
Feb 7-3:10 PM

Find all solutions in the interval [0,2r]: Show all work that we have done in class: Exact value where
possible otherwise round your answers to nearest thousandth

3
1.tanx=—£ 2. secx=8

Feb 7-3:11 PM
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3. 3sinXx+2sinx=4 4. 5cos’x + 6cosx = 8
Feb 7-3:11 PM
5. tan’x + 5tanx = -3 6. 2sin °x +sinx =0

Feb 7-3:13 PM
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8. csc?x - 2cscx = 3

7.cotx=.4

Feb 7-3:14 PM

Period

Name 4 ;Eg st
Day 5 Unit 8

b)cos(sin™'.2) =

a)aos"(sin(zT”)) = COS_I (‘ -‘g)
)
TR iy ’4{,. 222,
b A(

possible otherwise round your answers to nearest thousandth

N y,=1.052

or :
g% ¥z=2.084 i\»OﬁZ,Z-US‘i} T

Feb 9-2:17 PM

Group work:
| Find the exact values in radians for each:
- -1 -
T a)sin (7;{5) = _"l_\"‘ b)ese™'(2) S”'}‘(;I,—_) c)c'?_t"(*l) =¥ "‘an ('l) = _:’Lr
4 _ar =5

5 1., ]
Evaluate. Exact values leave answers in terms of mor simpleslgr_adical form:
2o’
]
S

Find all solutions in the interval [0,2r): Show all work that we have done in class: Exact value where

5
1tanx = = SIE [0y 2. secx=8
+ oo T {w'w} COSX = F
o _
2 ow SIS A TLE,
% X2= " or ¥ = 1.445
T ST S :4.838
Yy ‘% Xq 4
z TO L1445, 4.938]
3. 3sinx+2sinx=4 4. Scos?x + 6CosK = 8 P:_Ll'o
35in*x+28INX-4<0 908X +C0SX-8=0 S: &
b?-4aC =4 -4(3)#) < 52 (5c05x-f)(Cosx+2)-0 'O 7%
sinx - 2257 (OS5 |COSX* 2
) =1 ) - ad=, 4D g
SINX=,%085... | Sinx=-1.5351... &K =0
A= 1-0522 e w or xq:slwo
7,044, 5.640f
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5. tan’x + Stanx =

fantx +5tonx+3=0

6. 2sin x + sinx

Sl'nX(ZS_ianl):O
bt-tac =25-4(1)3)- 13 Sinx=0  Sinx= -4
—Tnx: —5?'? X:O;’]T)Z”IT 70*5 d:%
ST
fonye = 6472... | +an x= -4.3027.. c% X o
A=, (0088... N @ 1.3424... bk
or Ye©2.033 %= 179 T
% %=0674 [TO X=Y4.04 {O,’W, 6% i,
§1.100,2.583, .44, 5,674}
cotx=a 2 8.cscix - 2csex = 3
cotxs 55 (93X~ 205CX -3 =0
tanx= =2 (CSCX-I)CSCx+1) =0
H = 1.1902... (S(X=3 (SCX=-I
or  Y)=1100 SinX=3 Sinx=-l
= = ™ = \z-.n-
%%3 Vo= 4,337 N
{ or Y2340
1.190,4.432 =290
] e

{.340, 2.80, 4

Feb 9-2:18 PM

Feb 11-3:32 PM
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